
УСТНЫЙ СЧЕТ



Правильно или  не 
правильно

10 - 5=6
12 - 3=9
15 - 8=7
18 - 9=7

5

9



Сосчитай: 12 - 7

А) 4
Б) 5
В) 6
Г) 7



Найди сумму   12 + 9 = 

            А)21
           Б) 22
          В)20
         Г)19



Найди разность   12 - 9 = 

         А) 2
         Б) 5
         В) 4
         Г)3



Увеличь 
7 на 17

24



Уменьши 32 
на 8

24



Из какого числа надо 
вычесть 25, 

чтобы получить 30?

55



Задумали число, 
вычли из него 6 и 

получили 24. 
Какое число 
задумали?

30
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Помоги!
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Математический кроссворд

По горизонтали:
1.  25 + 7 =
2.  75 – 8 =
3.  38 + 9 =
4.  67 – 8 =
5.  46 + 5 =
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Математический кроссворд
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3 4

5 6

По вертикали:
57 – 12 =
43 + 8 =
62 – 7 = 
27 + 6 = 
54 – 8 =
73 + 9 =
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